
Handout #6 

v. 5— symmetry with v. 6 = %yae (eyk; cf. Lam 1:1, hk'yae eykah) 

           symmetry with v. 4 = ~ai (îm) 

           symmetry of __________ and ____________ 

           symmetry of  ? _____________ questions.  aAlïh] (halô) _________  _______ 

    2 Sam 1:19, 27 and %yae (eyk) 

 

v. 6— five Hebrew words; center word is __________ 

  

 Edom’s treasures = ? 

 

 Antithesis:  Judah 

         Edom 

 

 

v. 7—twofold transitional shift: (a) ________________; (b) _______________ 

 parallels: vv. 1 & 2 ______________ 

      vv. 3&4  ______________ 

      vv. 5&6  ______________    

      vv. 7&8 _______________  +  ________________ 

   Beginning of ? ____________________ 

   Irony: cf. v. 3 ____________ 

 Who? ________________ = ________________ (v. 11) 

 Nature of destruction of Edom: 

  1. 

  2. 

  3. 

 


